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Some people believe that people should follow their ambitious dreams and goals even they%re not realistic;
others believe that people should focus on achieving realistic goals. What" s your opinion ar%}d why?
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A or DA The best way for parents to teach children responsibility is to have their children car
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pollution, like oil and coal, Even though the former will be more expensice.
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A or DA Teaching was a harder job in the past than it is today.

/A or DA All teachers should be required to take courses every five years to‘f’gpdate their knowledge.
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A or DA The main role of a university professor is to educate students rather than tt%do research.
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A or DA A serious and strict teacher is more effective than a teacher who is humorous afid easygoing.
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A or DA The ability to read and write is more and more important now than befo
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/A or DA University students accomplish a project by teamwork, and the members share th:;e same mark.
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A or DA The best way for a teacher to let student become interested in a subject is tohelp them know how tm

Some students prefer to have their final grades determined by numerous small assignments, wEareas others
prefer to have their final grades determined by only a few large ones. Which do you prefer and vgey?
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Some students apply for a university because they can get good jobs after they gra@uate from this university.
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Others students apply for a university because there are famous professors. What is";;'our opinion and why?
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A or DA It is better to work in a larger company than a small one.
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Some jobs can pay high salaries but require employees to leave their family
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%d friends. Some jobs pay few
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salaries but allow employees staying with family and friend. Which job do youiRrefer? Why?
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A or DA All scientific discoveries should be shared among all scientists all around the world. TH
and businesses should not keep any discoveries in secret.
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/A or DA People should pay to use public transportation.
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/A or DA Technology designed to make people's lives simpler actually often@rns out to make people's lives
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/A or DA The most important characteristics for a politician or leader are gooéommunication skills.
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Which type of contribution do you think is valued more by your society?
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A or DA During an economic crisis, government will reduce costs in sor“ée certain public service areas. Which
unemployed.
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/A or DA The government should give priority to improving healthcare than to solving envi%gnmental problems.
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A or DA Which source is more dependable for news, TV or newspapers?.
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A or DA Young people enjoy life more than older people?
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A or DA Patience is usually not a good strategy. People should take action now r%her than later.
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Do you prefer to finish a project completely then to another one or do two or several ﬁ&)jects at a time?
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